Question 1

Question 2

11Maths Extl Assess | March ‘01

{20marks)

(@)  Factor fully (i) 8x’-y°
(i) *°-x*-x+1

¢’ +5¢+6  c+3
ct-16 c—4

(b)  Simplify

(c) Solve <5

x-2

10421 x4/22

(d) i) Simplify —_

55 %34/35
i) Given that g = 4—+/15 simplify
a) a+ 1 B a*+ iz
a a

(e) Ifx+1/y—x=4+\/§ find x and y

I _ a2
® Given £ =" 1 for x201find /L |in simplest form
x(1—x) x
(20 marks)
(a) What is the natural domain of y = L =
1-x
® I f@)=""%find £ (x)
X
(¢) On separate axes sketch (i) y= (x+ 1)2 +2
() y=x(3-x)
1
(ifi) y = ———
Y By
(d) Simplify (i) al x#0 (i) [2x~5-|x-9| for2i<x<9
X

(e) By finding f(-x)decide if the following functions are odd, even or neither

a’-x*
(1) flx)= s— Whereais a constant
a +x

i)  flx)=[x’-A

() By drawing appropriate graphs, or otherwise, solve (i) |2x - 6’ <4 ({)x+6> 2|x|
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